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Question Number : 1 Question Id : 716447151 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

According to Sabine, Political theory contains three kinds of factors. Which of the following is NOT one of them?

DB HEeCo, TPRSOD ‘?th’oejoeﬁ‘s DIPED 0570 907D &) 0. 308 TS” T3 3060 IB?

Options:
Factual

1. = a““‘g;nﬁ“éjérs



Causal

2 " ?Gﬁﬂ@éé

Valuational

HenrahDe
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Experimental
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Question Number : 2 Question Id : 716447152 Question Type: MCQ Option Shuffling : Yes Negative MarksDisplay Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Who branded Political theory as ‘dispassionate and disinterested™?

(oprN=Tovd) DLFomrd) EO(ICISRO S0dAiD BRSTIN®D IDM D)) D7

Options:
David Easton

1 x GDE& &Rd

Andrew Hacker

7 o €306 %S0

Harold J Laski
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Karl Marx
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Question Number : 3 Question Id : 716447153 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Who among the following is one of the founders of the school of logical positivism?
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Options:
Karl Marx

1 = E°§ mﬁbﬁ
Immanuel Kant

7 % @ﬁ?&ﬁl}étﬂjﬁ =sdeln

Machiavelli

3 y Sr30IDY

Max Weber
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Question Number : 4 Question Id : 716447154 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who said that politics is concerned with ‘who gets what. when and how’?

Tr28007e ‘D083 DD, MDD, I ODI0D TFIF VeSO G0 IDW BaryE?

Options:
David Easton

1 x GOE &S

John Stuart Mill

9 % O RRGS



Harold Lasswell

3 v mg ﬁﬂ:rqseﬁ

Robert Owen
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Question Number : 5 Question Id : 716447155 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
‘Empirical theory of democracy’ is propounded by:

DIR[0 I0E) LRZPDE HEFodo (DonbEes Honb esD EATEN ) HAFODE:

Options:
Germino & Macpherson

1 = a@ﬁﬁ & A0y

Joseph Schumpeter & Dahl

7P ¢ ED Drotd & e

Rudolf & Rudolf

3. “ CDC:“EED & CiJEL“EE;)

Herbert Marcuse
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Question Number : 6 Question Id : 716447156 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The word “1deology’ was coined by:
eraereo (HAoiTred) ean DTy APSToB 00T D:

Options:



Francis Bacon

1 = T BED

Destutt de Tracy

9 o CREASH

Karl Mannheim

3« 56 mﬁ&%ﬁ“cﬁj

Andrew Hacker

1 = €306 %S0

Question Number : 7 Question Id : 716447157 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Who is regarded as the intellectual godfather of behavioural political science?
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Options:
AF Bentley

1. = a).a)a). E‘:‘roé;)

CE Merriam

7« 2Q wdaio

Alfred Cobban
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Talcott Parson
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Question Number : 8 Question Id : 716447158 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What are the two major demands of post-behaviouralism?
TR-Dirdonodao (E80-DH0TPTrG0) 0L, 5o PP GATPE) DDE?

Options:
Relevance and Action

1. ¢ Eﬁ@éo *eblalonh)) r.?frtﬁé

Value and Universalism

I % DN BTN FOBET GO

Scientificism and Ethics
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Ethics and Action
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Question Number : 9 Question Id : 716447159 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The notion of ‘proportionate equality’ is assoclated with:

DTG 857D (Trarrar DATHB0) 09D ePHDd DBE HDEDE eod:

Options:
Plato



Aristotle

2 < E‘_‘}Eig"é:ﬁfﬁ

Socrates

3. % PO

Machiavelli

4 % OrSarDdY

Question Number : 10 Question Id : 716447160 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Who among the following argued for a night watchman state?

S0HrHS” D TrD are R §D0 DM ardord?

Options:
John Rawls

1 = 230D 5“»35:]

Michael Walzer

5y DBS Tgs

J Habermas

F.

3 " Efmﬁw&@

Robert Nozick

4 v UDE.}QS&%

Question Number : 11 Question Id : 716447161 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Who tried to distinguish power from influence?

DEDEIRIE AOC VAT T DWM IADTEAS DM POADSY 0T ?

Options:
Morgenthau

1« ¥

EH Carr

2. % @0 570

Robert Dahl

3 v UDE.}Q e

HI Laski

4 % Ma@ﬁrﬁ%

Question Number : 12 Question Id : 716447162 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which among the following is NOT part of TH Marshall’s classification of rights?
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Options:
Civil

1. = DS (@ro)

Political

7 % TadohD

Social

3' % roand



Economic

4. U8°

Question Number : 13 Question Id : 716447163 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
The essay *A Discourse on the Origin of Equality’ was written by:

DOEHSL0 GI0E), APw0R EDTF0 (J ETYEY 0 O 38D ¢D &S BB) D TR0 TRNG:

Options:
Karl Marx

5°0 mﬁam

VI Lenin

7 % 00 SDO

JT Rousseau
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Thomas Hobbes
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Question Number : 14 Question Id : 716447164 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which among the following is NOT correctly matched?

308 6" D& Nlslap “&35‘33‘5&}&6(:&}?
Options:

Vindication of the right of women — Mary Wollstonecraft
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The subjugation of women — Sheila Rowbotham

7 ¢ airve endod — aer & do

Sexual politics — Kate Millet

3 x Dohs oeasoiren — 565 DTS

The dialectical of sex — Sulamith Firestone
4 x & BG5S 5D 28y - Werdd POFD

Question Number : 15 Question Id : 716447165 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Who defined nation as an ‘imagined community’?

T 28 AT 5&1?5395' 29 DD DO D ?

Options:
Benedict Anderson

1. ¢ Eﬁ)(’?‘gg ﬁﬂdﬁgﬁ

Eric Hobsman

285 E’JBEFD&%

Partha Chatterjee

T 300
] &

Ernest Barker
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Question Number : 16 Question Id : 716447166 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



The statement *The first man who after enclosing a piece of land says this is mine and found others believing is the real
founder of civil society’ is made by:
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Options:
Thomas Hobbes

1' ® E'J'“E.‘_DFJ 7;.'_15-‘353

John Iocke

? % 2388

JT Roussean

3 v 38 Y

F Engel

4 % D oS

Question Number : 17 Question Id : 716447167 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT correctly matched?

Sod 35 DH Nlelap maﬁ*a}&ﬁm?

Options:
Concept of Residue — Pareto

1 = 053 (TRacsry) 2P — Doy

Concept of Sub-Elite — Mosca

7 % 2E5- IG5 AI0E) TP — Y,



Iron Law of Oligarchy — Robert Michels

3 % D0~ T e300 E.JE}TTDEI'E} = D'“‘E._‘&Q DJE-EﬁJ

Theory of Masses — Schumpeter

4 O 5D ATRD - LPoeId

Question Number : 18 Question Id : 716447168 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The concept of creative freedom was given by:

AR s ey (Sahdo ¢so) OIVE), PO QDN :

Options:
FA Hayek

1 % 29 o5

CB Macpherson

2 v CB &‘U"ﬁp}ﬁbﬁ

John Rawls

3« 2D U"Eﬁh

Robert Dahl

A = UDE.}Q =5

Question Number : 19 Question Id : 716447169 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Idealist reason of liberalism was provided by:

=T aclePuirapigl= wmﬁ;ﬁaﬂrﬁ SO0 e90don)mEd:

Options:



TH Green

1. v 85565

Immanuel Kant

7 % 93307 A0S S0

Hegel

3. % 0

Question Number : 20 Question Id : 716447170 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which among the following is NOT an agency of political socialisation?

SoHartdes” DO Trasol JroandEoen G308, DEE.EJ;} =07

Options:
Family

1. = oo

Friends

2 ® ?Jﬁ‘l'i]“ﬁjﬂ]

Judiciary

3 v mﬁmajéﬂ‘g



Newspapers

4. & TTDSSWw

Question Number : 21 Question Id : 716447171 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Who among the following has built a Neo-Marxist theory of freedom?

dobaredes” D3 SRS HODB 3D HEDD' R B OAITTNID?

Options:
Louis Althusser

F. .
1. = D00 ZISRIN e]

Ralph Miliband

U"F_'i;) DoBerol

Herbert Marcuse

3 v E]“CSQQ i‘l}“{‘%ﬁa

George Lukas
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Question Number : 22 Question Id : 716447172 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The book *Social Contract® was written by:
TS oS pRo TR
Options:

Hegel

1. & 3065



Kant

7 % Trod

Rousseau

3 v o

Hobbes

4. = Ef]ﬁﬁﬁrj

Question Number : 23 Question Id : 716447173 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The idea of ‘base and superstructure’ is expounded by:

B ol D6 PENE'IS DD DB T Dot od:

Options:
Marx in ‘The Party of Philosophy’

‘B b esD Derdeyest 20°6),
& )

Marx and Engels in ‘Economist Manifesto’

DETDOY maa:@ﬁ’ e5° mﬁb 0803 Jofiesy

Marx in *A Contribution to the Critique of Political Economy”

. SPoefan e & 08 esd eI Jsradn’eS” 20°6),
3.v = A
Engles in “Anti-Duhring’
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Question Number : 24 Question Id : 716447174 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



The scholar who argued that ‘the word (state) ought to be abandoned entirely” was:

'(U“ee,_;:)o (2¢3)) e9:0 Do PP HEHDODEITTY 9D TOHODD DoCEOCD:

Options:
Max Weber

1. % Wéﬁ@ﬂf}

T Skopol

) . OW|TS

David Easton

q , GDE &Rd

FM Watkins
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Question Number : 25 Question Id : 716447175 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT correctly matched?

08 e D6 8T maﬁ%eﬁm?

Options:
Managerial Revolution — James Burham

ATFaE0050e) BTl — Say BT
1. = ) D &2

The Stage of Economic Growth — WW Rostow
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The New Industrial State — Simon Kuznet

3 E¢3 POz ons Qo (& &g raoc%o:beﬁ 265) — DD DHFY 65

4. %

Modernization and the Structure of Societies — Marion J. Levy., Jr.
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Question Number : 26 Question Id : 716447176 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

‘Sovereignty can no more be alienated than a tree can alienate its right to sprout or a man can transfer his life and
personality without self-destruction.” Who made this statement?
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Options:
Liber

1. «+ d&b6

Towell

7w &0

Powell

3 x ordS

Hobbes

4. = Ef]ﬁﬁﬁrj

Question Number : 27 Question Id : 716447177 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who argued that ‘public service rather than sovereignty is the essential characteristic of the state’?

POETOEETT00 $083 D DD TS DVEROD VL0 DD THTD?



Options:
Leon Duguit

1. » OOBFS P

AD Lindsay

5 4 AD Boy

Earnest Barker

3 x Dﬁtﬁj} E:::ﬂ::%é

HIT Laski

4 % HJ t}“ﬁ}b

Question Number : 28 Question Id : 716447178 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Arrange the following in a chronological order.

a. Warsaw Pact

b. NATO

c. Suez Canal Crisis
d. OPEC

S0 D sregaT G0 95000 E.

a. U™y a.;::a;)c:mo
b. =°¢5° (NATO)
C. Araid Trend »0E o

d. a5 (OPEC)
Options:
a,c,b,d
1. = ac b, d



b.a,c,d
? « bacd

c,b,a, d
3 % ¢ bad

d a b;c
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Question Number : 29 Question Id : 716447179 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The term “Neo-Colonialism” was coined by:

‘Naar-8eSt Dotdaro’ess DAY GrsTodoc)dard:

Options:
Kwame Nkumah

S A)aT®
1.v 7
Walter Lippmas

7 % 06 E}.ﬂnyfn

Alfred Sauvy

ITNE e

Frantz Fanon

4' ® @DQ KJRJ“:%

Question Number : 30 Question Id : 716447180 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who among the following is NOT a Libertarian?

30T DI DI TS (Degbone) sPen?

Options:



FA Hayek

1 % 20 o5

Milton Friedman

9 & DO DT

Michael Sandel

3 D0DS FoTS

Robert Nozick

4 x U"E.)QSBE?;

Question Number : 31 Question Id : 716447181 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who among the following is associated with social welfare theory of rights?

& SoBaredes” TEN0 Frodné Do ?ogvo@o& (DPed DT\6 HODO e3d e5y) D Doedogso SDH ear) ?

Options:
Charles Taylor

1. = mgﬁn 36

Dworkin

Laski



HAI Hart

A % TOIS TG

Question Number : 32 Question Id : 716447182 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who was the scholar who extended the notion of “*dependence’ to mean domestic rather than the external condition of a
third world country™?

"R P00 e (DT P0d) D0E), IBDB[0 ST , OB 53065 DIZUD DTHHD Dwen” e9d EPOIPEPDY
DB0DD AT IG?

Options:
T Dos Santos

1 v & =D 50t

AG Frank

? % OB aros

David Easton

9 4 GDE &pd

Samuel P Huntington

FEL00ET o) sotdolio
4 S ?5 E3

Question Number : 33 Question Id : 716447183 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who among the following advocated the theory of world economic system through three concentric rings-core, semi-
periphery and periphery?

308 706" & Tro0HE Bofiy (S0 JEBog HwoIren) -E6, DI-DBDE dddoin DBDE TryTe PDo s ST
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Options:



Immanuel Wallerstein

13207 AOFOIS TMTTHON

Samir Amin

7 % D6 DD

PA Samuelson

3 Sha) ?Mﬁ@bﬁ

PP Rey

Question Number : 34 Question Id : 716447184 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Who stated that ‘The overthrow of mother right was the world-historic defeat of the female sex’?

B9 D0 HEFYEo oS PDoD TOTSLE Y Dorf LD B DM DE) T ®?

Options:
Friedrich Engels

1 DC08 o0y

Kate Millet

9w 36 2ge

Sulamith Firestone

g 4 R0 PETD



JS Mill

A % 8ID S

Question Number : 35 Question Id : 716447185 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Theory of natural rights was criticised as ‘Unreal and ill-founded’ by:

RIrE TR0 Do DB ‘@TrRD0 HHBOIV ITTEG0’ D DBoIeIE0d:

Options:
JS Mill

1. % 8ID S

Jeremy Bentham

7 @ S0 Botso

TH Green

3 % 00 HS

JT Roussean

4w 53 oy

Question Number : 36 Question Id : 716447186 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who used the term ‘Freemen’s Cooperative Comumonwealth’ for the ideal society?

G0y D20 F0 ‘Y0 Fesdddd 57ande @00 D) J0M 600N ?
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Options:
MK Gandhi

1. % <03 o



Karl Marx

S“'{§ mﬁam

Harold Lasswell

3 v T:J‘”'U“PE? @“:}585

David Harvey
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Question Number : 37 Question Id : 716447187 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the following statements is NOT correct about behaviouralism?

DOGTEG0 (D800 Sodartdes” D& DTHE S ?
Options:
It explores certain discernible uniformities in political behaviour

1 « Q20 ToRS0D PHEIS” EDY YN ISAPDBOVRD DDR0D

Insists on verifying and testing everything

2 DA B3DSBOBE=DS BTN DOZoT=DY GO

Separates political sphere, opposes integration of discipline

3 T80 6orPdy DM BR0H, ENILHD I8GM0 JoDED DRGSO

Quantification and measurement are absolutely essential

4 = DOSFEIE0m0 auboin Bed DONBOTP VG0

Question Number : 38 Question Id : 716447188 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



According to Almond and Powell, the concept of political culture involves three components of individual orientation.
They are:

es) ol SBOID arDe $5°C0, TraSoD QOB G0, 2RO DS &oich (oc:Dexgsdes L:0a0eIN) aing),
H0TED oo S5O0 Gotod. e28):
Options:

Cognitive, Effective, Evaluative

1 v 5o 30, JDED, JTrenjitdd (Dogrra) s, Qwé@m,aﬁmuﬂéoﬁé)

Cognitive, Cultural, Evaluative

9 % 570 3D, SONOS, DT e[AINID (“‘foo%ﬂum“@éé, ﬁ“o}i)@oﬁs, mﬁtﬁﬂ5o§:}}

Cultural. Effective, Evaluative

3« S0NGS, JDED, T OEHAD (Fro)BE, PVEFDHIO,TFE)

Cognitive, Cultural, Effective

4 % 50 DD, SN0, IDID (Dogrrrd) 8, o) RE, VerHdo)

Question Number : 39 Question Id : 716447189 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Prof CC Maxey branded him as “the sainted Aristotle of Middle age’. He is:

£Ta300 o muéb 223 ‘A 0TV DONOBE e0JPEde5 9D OF) T (0. 9B IDCoS:

Options:
St. Augustine

- o
1. = 2000063 Eﬂﬁfgé

Thomas Aquinas

% Fa1rd fﬂésa'{:-



Marsilio of Padua

3 « 8DA3r e v nb T

Machiavelli

4 % OT30rDdY

Question Number : 40 Question Id : 716447190 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Hobbes greatest work ‘Leviathan’ was published in:

E’Jﬁaﬁb ﬁ“&}:j G5 ‘TDOIFER JaDE) 2docserltiob:

Options:
1648

1. = 1648

1650

7 % 1650

1651

3. v 1651

1654

/. % 1654

Question Number : 41 Question Id : 716447191 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

‘Over himself, over his own body and mind, the individual is sovereign’ is the statement of:

B D63, B 3060 20BATL DDA DG, 8 JOET VS0 DA Eoercd'BD PEBOD 58:

Options:



John Iocke

1. & 3 &°3

JS Mill

I o BID S

HJ Laski

3 % hﬂﬁﬂt}“?ﬁb

TH Green

4 % O3PS HS

Question Number : 42 Question Id : 716447192 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the following is NOT correctly matched?

208 05" DO ENlslay ma*;?iﬁ%ejm?

Options:
Four Essays on Liberty — Isaiah Berlin

1 = 6 DD 8D Hex — oHNEIT BB

Taking Right Seriously — Steve Lukes

5, ©306 05 bbowd — Hb ars,

The Constitution of Liberty — FA Havek

& TIN5 e — D TPaDS

3. %



Right — Alan R White

4. x 08~ S 50 D)

Question Number : 43 Question Id : 716447193 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who among the following emphatically argued for “equality of capabilities’?

SobHHaredes” ‘éaSDSE}ef'J e5D SdDOD (%Dmgém SELEL NG §0 o (e Socerd?

Options:
Amartya Sen

1 v P_am_qéi:}c%
Mahboob-ul-Haq

7 s QoarearEd-eed-ars

Michel Walzer

3' % ey Fgﬁ

GA Cohen

4. & GA SO

Question Number : 44 Question Id : 716447194 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

John Rawls in his theory of Justice makes use of a *social contract® which is quite similar to the theory proposed by:
2 Ty 8D AL ﬁ)?o@oeﬁé TaTRS 2D\0mrdY &D0ITFAoEHEERE. A0 30d 58 DATFBODD gromEdy
e DO D eotwod

Options:
John Locke

1 & 23 &°8



HI Laski

2 % Ma@ﬁrﬁ%

Immanuel Kant

3 v QAT FDICI SP0B

Nozick

4. v Sas8

Question Number : 45 Question Id : 716447195 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Who suggested ‘power as productive which produces identity and subjectivity’?

B0 SLBCIL TR FODGD GG B3 FED ETPYGES TP D APJom?

Options:
Franz Fanon

1. W @Dé ;33“5

Michel Foucault

2 ¢ ey ﬂ“s*‘%?

Tom Bottomore

3. % tra0 ertaDrd

David Held

A COETY

Question Number : 46 Question Id : 716447196 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which of the following statements of Aristotle i1s INCORRECT?

90D HELDOS” F0HTHS” VOSTID IA?

Options:
He opposed tradition of slavery

1 v €5000R) EPDRIB] DODITOIFDY fe3BS0e™CD

He has given organic conception of state

o
2. " e5030a) esofis ey @%}To@“ﬂ& raa'j“&c:i:}

He believes that state is a product of human reason

q g TEf0 AFID SO EOND 0D 500D DF oD D

He argued for corrective and distributive justice

BEIETED (583D) addomn Derts (CLRerridd) ejato 70 83008 rAotrd

Question Number : 47 Question Id : 716447197 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who is of the view that “Democracy is a form of government in which no one enjoys unconditional and unlimited
power™?

"DEPIraje 906 DOBILD S 60T BDBNSRLD VAT IDAT TFocD DAY WDE" 9D JDD
SEATydervrelmelevYd

Options:
R Dahl

1. = E:i‘ﬁf:fsn‘;j“

CB Macpherson

7« ) mﬁgﬁjﬁ



AD Lindsay

3 % DG Dolly

G Sartori

] o B08B

Question Number : 48 Question Id : 716447198 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Harold Lasswell’s specific contribution to behavioural revolution was:

VOGP DDD"IS 0P PRI ISy DB RTSCo:
[l Ca G ED

=y

Options:
use of mathematical tools in political analysis

1. =« CTr2sab DFNRS” (66 FETro EDaio

content analysis and psycho-analytical tools

9 DROL DFNE HBOID HEIVE-DFETEE B IATN OV

fusion of biological approach with political questions

3 « T80 DB OF 2 DEPdo ML), SoNE

application of traditional methods with modern approach

4 x e5C0DE D00 JFONTFOR DEEVY DT

Question Number : 49 Question Id : 716447199 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who is the author of ‘Science and Method of Politics’™?

DOy o0& WHE 5D FDHSY G300 JDW?

Options:



William Munro

1. % OBoBo ang

Kirk Patrick

5 36, >85

GEG Catlin

3 v 2hned S“EQE}

Morgan

4l% r:.5

Question Number : 50 Question Id : 716447200 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
The book “Evolutionary Socialism” was written by:

'aawéaeaa DPao R0 TrHS:

Options:
Eduard Bernstein

1 v DC.&SQ Eﬁ;l 530:05

Harold Lasswell

2 T:J‘”'U“PE? @“:}585

JW Chapman

LAY TFa) e

3. % >



R. Dworkin

4 = es6. Esﬁbé

Question Number : 51 Question Id : 716447201 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
‘Swaraj will not be a free gift of the British Parliament. It will be a declaration of India’s full self-expression’. Who said

these words?

R0 DO JPERN0e 3VE) DS LTV . A PCBDFo A0S, 38 ?05053 (3508 0IE), DELR
2:NE006 . S TP DD a.ﬂv;}m?

Options:
Jawaharlal Nehru

1. = e OeTed DT

Mahatma Gandhi

3 oDk, o

Bal Gangadhar Tilak

3w @S dorreid Bes

Lala Lajpat Rai

A w erer oadd oo

Question Number : 52 Question Id : 716447202 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Creation of an All India *Services’ is provided in:

eadde) ePGEd ‘e DU“:)E.}.} Q) ¢ QDEIC00:

Options:
Article 324

1 % @85S 324



Article 312

9 o ©RES 312

Article 326

7 4 ©QES 326

Article 310

A % ©QES 310

Question Number : 53 Question Id : 716447203 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the following is INCORRECTLY matched?

SoHaretdeS” DS SN maﬁﬁ%mioé?

Options:
WT Wagner — Modern Constitution

c;‘.g._’n?g.e?}. aﬂﬁiﬁ — ex¢cDY U“aﬁuéuﬁo

1.«

CH Alexandrowicz — Constitutional Developments in India

2w 0. e_*:rejgoﬁ S - PGB0 orarfof DOEFIT

I Jennings — Some Characteristic of Indian Constitution

3« 2. Ealaﬁj ~ 208 ToERjorio n::E"‘,a:n:rSEj §°§}Q~L e grFen

G Austin — The Indian Constitution

4 % 23 E_?%;r:'\':.} ~ 2P0 Trejolio

Question Number : 54 Question Id : 716447204 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which articles state that noting is this article present state for making any special permission for the advancement of the
Social and Educationally Backward Citizen Schedule Caste/ Tribes?

PR ST S0800 DTFFHOMTT DAEREN FHO RETS Do / Biv 1DTAAS IFT RBE RN QTS
AP0 D Deodd (e384e5) SDH cob?

Options:
Article 14(2)

1 x @885 14 (2)

Article 15(4)

9 o RES 15 (4)

Article 16(4)

3, ©RES 16 (4)

Article 18(1)

A ©QES18 (1)

Question Number : 55 Question Id : 716447205 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Arrange the given Acts in their chronological order.

1. POTA 2. MISA 3. TADA 4. COFEPOSA
QN HPOD T sreEa0es” €956 0C.

1. ¥ 2. 200 3.erce 4. 0>

Options:
2314

1. = 2.3,1.4



4,2,1.3

? % 4213

EJ
P
%]
[

3 v 243

4,2,3,1

4 % 423,

Question Number : 56 Question Id : 716447206 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The fundamental right which prohibits double jeopardy punishment for the:

B03Y) e9rONSCRVD VL (cenes BT, DAY 0E5) DD FEIE Py, &) eB5S:

Options:
Article 19

1 % ©88519

Article 20

9 o ©8ES 20

Article 21

9 4 ©8sS 21

Article 22

Ay ©RES 22

Question Number : 57 Question Id : 716447207 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Right to Education become a fundamental right after the:

DG 3L, FEE T T O BT arBod:
Options:
85™ Copstitutional Amendment 2005

1. = 855 Teefor Deoca 2005

86" Constitutional Amendment 2002

2 o 86 U“Eﬁ“éﬂﬁ ~eadea 2002

85t Conpstitutional Amendment 2003

3« 855 U“Eﬁ“éﬂﬁ ~eadea 2003

86t Constitutional Amendment 2004

1 = 86 U"Eﬂ"éc}ﬁ eatica 2004

Question Number : 58 Question Id : 716447208 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Dr. Ambedkar said about a particular right ‘It is the key soul of the constitution and the very heart of it’:

50 08,0 28 DBEE 7K, (DOoL) HFEFPCOBT QO TaFjorrIS de 3], SO0 T°D (oGS ol T B3I
o) 7

Options:
Article 19

1 % ©0ES19

Article 21

9k ©9ES 21



Article 1

3 - E_‘E‘QSE‘51

Article 32

A o ©BsS 32

Question Number : 59 Question Id : 716447209 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which (writ) Enquires ‘Legality of the elams’?
26 (665) ‘derdoy o30g), YRGS’ (DO DErBoB?

Options:
Quo- Warranto

1 v ?5— TPO0e5"

Mandamus

7% Aot

Habeas Corpus

3« PO S0y

Certioriari

A = hgﬁcﬁj“ﬁ

Question Number : 60 Question Id : 716447210 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following statements about Directive Principle of the State Policy is INCORRECTLY matched?

TR DT 838 TR0 (D00 2007°0S° IO DB DETVNGH?

Options:



Ivor Jennings — Fabian Socialism Without Socialism

1 « D56 &) ofiy ~ HDNODO Tadmo DeFeS Fadao (TFndao 9 FrdHond Dadao)

BN Rao — Moral Percept

D.DD T — S ©3y.5 (DAL e9yTaT)

KM Panikkar — Socialism is Economic Sphere

3« 8350 3“:\’}555 — Fadao & IESHDS 2005 (Fdao 508 Goio)

JL Nehru — Political Democracy

.06, Dz — TFONLS Eargn (Tadan Darareaso)
4, v = oy

Question Number : 61 Question Id : 716447211 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Spoil system of appointment is present in:
€957°000065200¢5 T300E). F0S VP L) & Eod:

Options:
India

1. % @ro0ds0

England

7 % @og“oé

Sri Lanka

3. Wt QDGQ



USA

4] ¢ iR

Question Number : 62 Question Id : 716447212 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
The previous recommendation of the president is required as Which of the following Bill?

& 800 Dewed” BIS T°HDA AVOGR VP 9DVC0?

Options:
Ordinary Bill

1. = oo D

Constitutional Amendment Bill

Trariofl wedcs e
7w ! =

A Money Bill

3 v &g Deo

Private member Bill

A % 2020060 T0oe)d Dew

Question Number : 63 Question Id : 716447213 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The joint session of the parliament is presided by the:

PGV GaLE DATITIS (LG DaroBTo:

Options:
President of India

ALOlE A Dﬂﬁgﬁ.‘)eﬁa



Chairman of the Rajya Sabha

% u Trafdl DO,

Speaker

3 v ﬁhﬁéﬁ

Parliamentary Affairs Minister

4 = FgR0eI0 DOIFTR o

Question Number : 64 Question Id : 716447214 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT true about money bill?
S0b TOS” IO GO) Dew MO Da2o T7eL?

Options:
It can’t in Council of State

1 « Al TS D g;eﬁeﬁ“ =T ATAY)

Council of State can’t reject or amend a money bill

S ONS D 8 Gf DR B BoITD T BT

2. %

3.v

If the Council of State does not return the money bill within 14 days, it shall be deemed rejected
NS 3D 5 i Depad 14 Fared” ABH @SB, 096 67,8050 ZPDoSLIEBI0D
Speaker will decide that a bill is a money bill or not

5
4 = Dew G Der, 5@ 9D Y56 JGoTMm

Question Number : 65 Question Id : 716447215 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



How many members are there in a committee on public undertakings?

DIDBY DOROL 2.8 SD0BS” Jod dod DR ET) M?

Options:
15 members from Lok Sabha and 7 members from Rajva Sabha

1 v 65°8 225 oot 15 avod, T3 Aodt 7 0o DD

10 members from Lok Sabha and 5 members from Rajva Sabha

I % 65°8 225 avod 10 s0od DEgeD, TP Aot 5 &od DL

15 members from Rajya Sabha and 7 members from Lok Sabha

3 « T4 Aol 15 dnod DEgeD, V'E 0y e T oo DEgeD

10 members from Rajya Sabha and 5 members from Lok Sabha

4 = T3 Aol 10 aed DEgew, e5°8 22 Ao 5 anod EgeD

Question Number : 66 Question Id : 716447216 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Under which Article of the Constitution of India, legislation by a state shall be subject to disallowance by the president

when reserved by the Governor for his consideration?

POS Toarjoiod’D D 3958 PEdio, (106) 6 8 Edo DV €odd D T SEPR) T TPRR0D S 8ot ?

)
Ry Ry

Options:
Article 101

1 % ©05S 101

Article 201

9 o ©QES 201



Article 301

9 4 ©QES 301

Article 200

A % ©BES 200

Question Number : 67 Question Id : 716447217 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following schedules distributes power to legislative between the state legislative and the panchayat?

2ob e DO T°F) TR awbain oTFCIIeIe) DE] TRIVBLD 9OTT Y Do DH?

Options:
78 Schedule

1. % { &f};lm?gﬁ

8 Schedule

2' " 8 &f}hm"?&ﬁ

11™ Schedule

3 v 11 3 3acrges

12™ Schedule

4 = 12 :131(.1}&56

Question Number : 68 Question Id : 716447218 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Arrange the following states in the chronological order of the action.

1. Andhra Pradesh 2. Gujarat 3. Himachal Pradesh 4. Harvana

€99 DD TOEIATRI G0 Fod ToarOD 29500y0E.

l. 50gDB% 2. maced 3. rarad PO 4. TURT

Options:
1,2.4.3

1 » 12,43

1.4,2,3

2 % 1,423

4,1,2,3

2 x 4123

2,143

4 = 2,143

Question Number : 69 Question Id : 716447219 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is INCORRECT about the impeachment of a Supreme Court judge?

20208 TONRRE DB (BN SoRarides® D& HOTTE?

Options:
Motion addressed to the president

1 = [SEATSIE SR I TAT ARy DAIED

2. %
Signed by at least 100 members of Lok Sabha or 50 members of Rajya Sabha

e5°825¢5° £h%0 100 svod REbjen Tz 50 d0od TragRd DELjY 36 DodSo S0 o



Motion is to be investigated by a committee of three

g DDHO DR E06 B¢ S PATOD DT B0EPH

Motion passed in each house by simple majority tie of 50%

. v RO DSBS PAFED 50% Foroe 0erdd § & O pBoed

Question Number : 70 Question Id : 716447220 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Supreme Court may provide advisory opinion on any question of fact or law that may be referred to it by the president.
This is provided in:

méx)@ Do TR BN PFY TT* B0 WEE'P VO] E BDFAITFI) RO, d HIS” God:

Options:
Article 136

1 % Q55136

Article 140

9 % @85S 140

Article 143

g , 0SS 143

Article 142

A % OQES 142

Question Number : 71 Question Id : 716447221 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The statement *we did not want to make the president a mere figurehead like the French President” was made by:

20D DROEE D Pod VGEICTTT SHV0 APADDTERY ST DoiroS Do Faed DEOD Sod:

Options:



JIL Nehru

1. ¢ Eﬁmﬁﬁﬁgﬁﬁ

Rajendra Prasad

2' Y Tgﬂg Qﬁ“tﬁ-

KM Munshi

3 - Bald MQ

KM Pannikar

4w 306

Question Number : 72 Question Id : 716447222 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
National Green Tribunal Act was created in:

200 GO GBI 5830 KNODEIERD oD Go:

Options:
2006

1. = 2006

2009

7 % 2009

2010

3.« 2010



2012

4. = 2012

Question Number : 73 Question Id : 716447223 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
What is the full form of the abbreviation “NITI" in NITI Aayog?

2ed (NITI) esaarfes® NITI e9D D022 oo e IVS ) JoReriels D ?

Options:
National Institution for Translating India

aeed r:;r:i}cgm?gaﬁ rele) ejvﬁsejéboﬁ fRocC.0i°

National Institution for Transforming India

aeed m:)gm?gaé b @“ﬁ“ﬁbﬂ&Dﬁ Rodlair

National Institution for Transforming Institution

ey r:a}:}gmﬁar% b @mﬁsﬂéoﬁ ra:&gm?gﬁqu

New India Transforming India

R0°) QOC.ONT Qﬂmﬂjgﬁéoﬁ QoGO3

Question Number : 74 Question Id : 716447224 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

NITI Aayog was established in:

53 (NITI) escara Qﬂi}omm&.a‘; oS Co:

Options:
January 2015

1. v 225250 2015



June 2015

7 % ero 2015

January 2016

3 % 2000 2016

June 2016

4 = rd 2016

Question Number : 75 Question Id : 716447225 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Who was the chairman of the first official language commission?

200658 QRS 2P SDND DOLD ID?

Options:
BG Kher

1 « BG 56

HN Kunzmm

HN oo
)

Rajendra Prasad

3. Y Ungﬂg Qﬂ'ﬂ&-

KM Munshi

4 % KMMQ

Question Number : 76 Question Id : 716447226 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Division of subject of legislation under three legislation list is provided in:

BT SR 2PDT® S0cS B0 CIVE) DD DoLI0BODD HHHO 05" R od:

Options:
Schedule 3

1 % 331{13"5'&5 3

Schedule 6

2 % 331{13"5'&5 6

Schedule 7

3 W 31@5&5 !

Schedule 9

4 % 31@5&5 9

Question Number : 77 Question Id : 716447227 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

‘India as a secular state guarantees, constitutionally, freedom of religion to all persons, and does not assign a special
pointer to any particular religion.” Who defined India’s secularism in the given words?

2POBDI0 28 T3S TraforT TrajoriesorT, £90030S aed ey, anBoiD ) DBE IS HIET BONTBIDLED
DD @D, G DEOTT ZPEBHF0 CIVE), TEETTEIY W DO(Doerdd?

Options:
Atul Kohli

1. = e9dh e %6%?

Rajni Kothari

7 w oad Eod



G. Austin

=]
3 % 2. e_s;egu'f}

Alexandrowicz

Tl DS
4. v

Question Number : 78 Question Id : 716447228 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Under which of the following articles does the Rajya Sabha have special powers to legislate a *state list” in the national
interest?

308 T0ES, PO DATRTO c&;,qgwé oY DI Se0TP AFToHeSIRDS TraRSD DS OTTRD &) 855
ATaYd

Options:
Article 249

1 o @885 249

Article 250

9 % ©PES 250

Article 252

9 4 @SS 252

Article 233

A % ©Q5S 253

Question Number : 79 Question Id : 716447229 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

When and in which state was the president’s rule invoked under Article 3567

£
—

e58885 356 DG TRDA 0D DD, 2 T7085° edaIrNosedod?

Options:



1950 in Uttar Pradesh

1. % 1950 & eacHd%S’

1952 in Harvana

7« 1952¢5° KI'-"U“ZSKFEJW&

1951 in Punjab

3 v 1951 &° Dozpeses”

1954 in Andhra Pradesh

4 % 1954 &° esognded”

Question Number : 80 Question Id : 716447230 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
The Chairman of National Commission to review the working of the Constitution of India was:

&6 TraPgorio DDBEDA DAZSEEIS DODHAVODIE 2PHOH SO B0, S:

Options:
MN Venkatachaliah

1 v 20 a6, E}oé@ﬂfmﬁ)(ﬁ)&

MM Punchi

? % oao 3Poc)

PA Sangma

o) 0T,

o
b
E‘F



GL Banarjee

4 = 23,89, 5.:3@

Question Number : 81 Question Id : 716447231 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the committee/commission recommended the deletion of Article 3567

e50565 356 &0 Fofomrod J 8D / SDoHD ?ac_ﬁvmg B067?

Options:
Sarkaria Commission

1. = “&]D“bﬁﬂij“ Sada)m

Rajmannar Committee

I B0 6 &6

Administrative Reform Commission

7 % Db 0,088 SDND

MM Punchi

4 = 200 2))0L)

Question Number : 82 Question Id : 716447232 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following members were part of the Sarkaria commission?

& 308 E’;]a‘_i:.ﬁéueﬁ"" DD o7, B0 &0 0es” BP0y ?

Options:
Justice MM Punchi & B Sivaraman

1 % @R oo od & D o0



Dhirendra Singh & B Sivaraman

7 5% OO0 Dok & D DTS

SR Sen & Dhirendra Singh

3 d0esd DS & &Bog Pof

B Sivaraman & SR Sen

4. v D DT & JDesd Do

Question Number : 83 Question Id : 716447233 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Who authored the book *Democracy and Discontent: India’s Growing Crisis of Governability™?

‘ZATED e90& (:70),083065: QOC.OITR) fowof S0 e3d ﬁmﬁlﬂ@eﬁ‘ DT Dt GroerEm?

Options:
Atul Kohli

1. ¢ eaéhed %ﬁggﬂ

Rajeev Dhawan

7 % TBDTOD

Ramsay Muni

3 % TraoR aDd

Rajeev Bhargava

4 = TR0 aeby

Question Number : 84 Question Id : 716447234 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



The formation of the State Reorganisation Commission was announced in December 1953. Who was its chairman?

TR @&055;:?&;%% S0ND Do Edoeb 1953 & HEGoTTm. T BOLD IDH?

Options:
Fazal Ali

1 v 2@ ead)

KM Pannikar

I« 3. J&80. ;;b;lsa

Pattabhi Sitaramayya

o 5
3 % @%}F&D rﬂwmmJé

HN Kunzm

PR, SV

Question Number : 85 Question Id : 716447235 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is an example of associational pressure groups?

SoHaideS” esDPracdinies 00 (Prapen (Dara Hersd DTeD) £ &Tro DD0e?

Options:
Congress Parliamentary Board

1 » 7000 &G0t &5

Caste groups

7% SHe RdooTaken

ABVP

3 v 2D



ULFA

A % GOy (030.05065.009.2))

Question Number : 86 Question Id : 716447236 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following committees is related to electoral reforms?

& 208 £ DH D) E© 20 B 0e0BoDIB?

Options:
Goswami Committee

1 v f—’fﬁgm £218)

Seth Comumnittee

7 % 0O SO

Mehta Committee

3 % Doiroe ED06

Punchi Commission

4. % Do 0D

Question Number : 87 Question Id : 716447237 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Through which constitutional amendment was the total number of ministers including the prime minister in the council

of ministers restricted to 15% of the total number of the House of People?

2 Trafort DHCEs TP, oG 0D’ HIPHRE DD Do SvoGow Moy Dndo &8 HS® 15% &
wbmndo doledod?

Options:
00" Constitutional Amendment Act

1. = 90 & U“aﬁﬂ5oﬁ i AT



015 Constitutional Amendment Act

2 v 91 & G”Eﬁ“éﬂﬁ Py lela 80

8ot Constitutional Amendment Act

3« 89 o Dﬂa_f,ﬂ?goﬁ wdedIED oito

0219 Constitutional Amendment Act

4 = 92 &5 D‘“‘&Sﬂéﬂﬁ D oito

Question Number : 88 Question Id : 716447238 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
All India Trade Union Congress was founded in:

esed Qod0iF & oIrDOND SPodo Q“ﬂ]oﬁjmé.ﬁ Qo do:

Options:
1920

1. v 1920

1936

7 % 1936

1947

3w 1947

1951

/. % 1951

Question Number : 89 Question Id : 716447239 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Basic Structure Theory was given by Supreme Court in the case of:
& 520" Dure) AT Do) (B8 P86 BoDB) 2D @dyod:
(] 2 )

Options:
Indra Sawhney vs Union of India

1 = 0% 5“%1}1 VS 0IPCHO e3H otair

Gopalan vs State of Madras

Hared vs S0 TFo
7 % e

Keshavnanda Bharati vs State of Kerala

330 Ao arded vs 0¥ T°R0
3.v | 8
Golaknath vs State of Punjab

s ord vs moared o°3)0

4. =

Question Number : 90 Question Id : 716447240 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who among the following is NOT appointed by the President?

308 05" DarcDd TS DODDDEIED?

Options:
Attorney General

1 = E‘_‘JEF&JJ 29065

Advocate General

7 o @ﬁ5§95 aneaied



Comptroller and Auditor General of India

EDEEEE‘_JS eonls e300 AH0eS €3 ot ol

Judge of High Court

4 = TEP Trjonanrd

Question Number : 91 Question Id : 716447241 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who defined Public Administration as ‘The art of administration is the direction, co-ordination and control of many
persons to achieve some purpose or objective’?

DDS ) DR DOTFOT £ €900 Fodd Airade o 0D FHoSEIS T 008 HIHO PO,
REDAOI0 EBCID DOToBE 9D W DO ?

Options:
Luther Gullick

1 « ored MBS

Herbert Simon

9 x TG

I1.D White

3. v dOC D0

Woodrow Wilson

4' ® @g E)Uﬁﬁ

Question Number : 92 Question Id : 716447242 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who coined the term *Gangplank™?

Tefar0S' 8D DIEDY DO ye0erdd?

Options:



Henry Fayol

1. v TQDIFS

Lvndall Urwick

7 % Dormed 5&55

FW Willoughby
AD. e, DD

3. » g
D Waldo

433&“3“%?6

Question Number : 93 Question Id : 716447243 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Logic Theory Machine is supported by:

ere3S HOHO DD L Fry e NSO

Options:
Herbert A Simon and Allen Newell

1. ¢ E]“GQQ o) M) 000D 9T éﬂﬂéﬁiﬁ

FM Marx

e mﬁ'ﬁ}g

Victor A Thomson

9 . 956 dTand



D Waldo

433&“3“%?6

Question Number : 94 Question Id : 716447244 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which is NOT a characteristic of ‘Hierarchy*?
o6 areded” ‘Earraociey 36 (Ejﬂotim“%r alng); V&0 5700 D7

Options:
It functions on the principle of ‘through proper channel”

Rk ‘Gr b T PG DD

Unity of command is an essential feature of hierarchy

Sarof ohg) DEB (03D e3D Earrol) Eaaraoeied 3ed O30, QDD VL0

3.v

Authority vested in only higher level and every level of official should commensurate with the responsibility entrusted
to him

DTG0 &) & lg“maoe_")é QTPEIRD €08008 B0 DA .gﬂcm B0 BHL 9DY0DD PO Seed eord

Division of labour

T8 EiEe
4 = = '

Question Number : 95 Question Id : 716447245 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

‘Toward A New Public Administration: A Minnowbrook Perspective’ is written by:

€00 &) Arf DDS G IDNR: ﬂjﬁlggﬁé bﬁgggé’ﬁﬂo{m&:

Options:
Frank Marini

1' v @Dg DD



Mathew Cranson

% u baby 5‘*;%5

FW Willoughby

DS e DS

Adam Brooks

4. = eICE) B3PSy

Question Number : 96 Question Id : 716447246 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT a characteristic of new public management?

S0HTAS” Aoy DDE HFDF) 05 DY), VL0 TAD IO?

Options:
Economy

1 = Bl oy g b (e_ags ajéaj”'%:n]

Decentralisation and responsibility of authority

I % DB0fHE0Ee DOBOID BTG CINE) EPGHS

Qualitative improvement in regulation

3 % Dodogeees” (HErd) & oo

Centralisation of authority

4 v ea&5°00 030E) SoLEoe

Question Number : 97 Question Id : 716447247 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Mooney & Reiley enunciated four principles of organisation. These principles are:

S0 & BT .l 08 30, T D PTFOR DdBOT . S APTFeD:

Options:
Coordinate, Scalar, Functional and Equity

?Bgﬁéﬂ, 2,25, DoLHS Ddotiv éeés&?:

Discipline, Coordinate, Functional and Staft

9 g GRODD, EesfDE, DoLHS 00D FD

Coordinative, The Scalar. Functional and Staff

3 ?w%ﬁ)ﬂi}é, & 2,076, DoLIS ok Q‘{)

Coordinate, Functional, Discipline and Equity

4 % Ees0:9¢5, DoLAS, AP BT S

Question Number : 98 Question Id : 716447248 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
According to Luther Gullick, the four bases of organisations are:

erao (DS H5°0o, 0”0 0108, TPRD DATEe:

Options:
Purpose, Clientele. Budget. Area/Territory

1. « &350, Y DIIFCTFERD (§00008365), LG, arosso / #orercio

Budget, Allocation. Purpose, Process

2w EJQ,ES_. SeIP0I00), &Q?ﬁo, Fel=Tevd!



Purpose, Process, Clientele, Area/Territory

3 &5350, DIODL, PIOY DIATAT WD (§02008385), grodo/ Breriio

Budget, Purpose, Process, Clientele

4 % G, 8350, HSoWo, DY DACITITmED (Soodes)

Question Number : 99 Question Id : 716447249 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
The book “Planned Economy of India’” was written by:

EEFQ JSHA €5 PoCOIF N0 TrH:

Options:
M Visvesvaraya

1. v &40 E)%S:agdom?g

KT Shah

7 % SO ar

SS Khera

3 x JDID For

AD Gorwala

4 % e P?U“CSFJP

Question Number : 100 Question Id : 716447250 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The book "The Administrative State’ was written by:
O o9t DD Y RS0 TorRE0:

Options:



Elton Mayo

1. = DPE}}.% s J=03T®

Dwight Waldo

2 &g g

MP Follet

3 % DD FOES

Chester Bernard

4. = a@ﬁ mnﬁig

Question Number : 101 Question Id : 716447251 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Public policy typically aims to:

DDE SroD FTromoT DO OEFOT LI

Options:
exacerbate conflicting claims made on scarce resources

1 v DG DML CIrdD DAGDORD DDV DBk

remove incentives for collective action

I % FRrars 30f Fdo Faryprsto Foinod

prohibit morally acceptable behaviour

3« DAEOTT SDTEGOITHZVD DDIFO DDOR0H



protect the rights and activities of individuals

4w DO DY Sa SOSerTrON 0E000

Question Number : 102 Question Id : 716447252 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following correctly lists the stages of policy-making process?
DD AFDNEOND H30H (o Ddofl FHD) 0L B3OV S0b TAS° DO VO rDE S3H0b?

Options:

1. =

Policy evaluation, issue identification and agenda setting, policy adoption, policy formulation, policy implementation

DO DOTEr[oSd0, QY DZBDIND (DaY MB0iY) BT IForz Dod, PO VTN, FOD T TN
(RorB50eR), o QoSN (D@D eaven)

2.

Issue identification and agenda setting, policy formulation, policy adoption, policy implementation, policy evaluation
T DEodDTN0 (‘é}ﬁ)}bﬁ HBoxy)) dBoIL IFot= Do, DT PSRN, e eI, D 202200630
(DD e9s0ew), rerd EEES TGRS (D M&Féos.éo}

3. =

Policy formulation, issue identification and agenda setting, policy evaluation, policy implementation, policy adoption
DT EFOEOND, @y DE0DDTND (;:am“n)?g (0B03Y) snBotn JBor 2dob, Fred QPeN{OIND (Doesd
DAFETFOED0), VD WORTVOLIND (DT 2VeD), TV VTR

4. %

Policy implementation, policy evaluation, issue identification and agenda setting. policy formulation, policy adoption

arerds Q0202006300 (D eaeD), rerns RQTED[ODND (D MWgosx)o), QO DEoBDIND (R)&i)‘&)g
(D805 0Bt IFor of, AP VAN (Rargsoen), oo DD

Question Number : 103 Question Id : 716447253 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who among the following argued about ‘incremental decision making’?

SoHareded” Jath ‘@oda00red THND awdoh Hdod) TrdowrEth?
Options:



Richard Snyder

1. = es) :‘l:’;),ﬂﬁ

Charles E Lindblom

00 @ Doflydo

Thomas Dye

4 x TOIE

Question Number : 104 Question Id : 716447254 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
The normative optimum model of policy making is developed by:

DT EPDEOND (Srer2y D30A) o0, APOTPEIE STPOON) SRR (T8, esa00 Dree5) DO oo DR

OSIEIC 05
Options:
Yehezkel Dror

1 v o) & &0

Charles E Lindblom

00 @ Doflydo

Laurence Lynn

3 . 0908



Peter de Leon

4 % b & dard

Question Number : 105 Question 1d : 716447255 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Substantive public policy are concerned with:

(IEADOIZLA DA DEEH0 HDSE L0e10HODHE:
Options:
General Welfare and development of the society

1 x IO O FTrOEe DoZa0 0daTL DY

Regulation of trade, business and safety measures

I TedR(0, PG00 DOBOID HET SO0 DOVOBER

Meant for specific segment of the society

Wara085°D) DO DerTrAS addodiedod
3' ® el [~

4. =

Concerned with the re-arrangement of policies which are concerned with bringing about basic social and economic
changes

FEDE FaTes Hodosw €30S ANV EIRNETOTTIS 2080800 DT @acséa?gsasagj 20E050DHE

Question Number : 106 Question Id : 716447256 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which theory stipulates that citizens are self-interested actors whose decisions fulfil their own needs and wants?
rdoen O NS0 Heew, T8 DYOITeD 78 DY BBVTVN BT EB50M DEDOI DD Qgrodo
DBI00H7?

Options:



Economic theory

1 = Eﬂgé ?thj“c:e:ﬁcu

Managerial theory

o, =]
2. o :i)trnlsmé n}g}“oﬁﬁ

Rational Choice theory

APEEIGTOR Joas ."'—'aam?oéjo (Ga9ed a0 HOLH)
3.v
Pluralism theory

o - o
4 = S e lIIS (mm@sa“c&) LT0e0

Question Number : 107 Question Id : 716447257 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
The “Black-box’ model of policy analysis was presented by:

Dord DD (Fod o) GI0E), GPE-EPSY HRFRFR) DB e:

Options:
David Easton

1 o GOE 6D

GA Almond

7 % aao)e_eﬂéo&

Karl Deutsch

3« S"{;J: cijﬂ55



Peter de Leon

4 % b & dard

Question Number : 108 Question Id : 716447258 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the following characteristics is NOT a part of Weber’s model of a functioning government?

& S0 rOS” ‘DBE CIWE) DOGEs PEDBLE” IO 2Prio TE?

Options:
There are rules within civil society

1 = PO Darae’ Doiaren &) 0

Government must employ skilled experts

2 220SCo apeare SHAD DY Dobowrd

Skilled experts do not necessarily have to operate within organised hierarchy

3 o QK}_‘)EBZSD SHA Dancaew 53553535&@ E50r000E9 263e5° DABONHDOND 9200 S

People must be treated equally

A % DBOID VIO e

Question Number : 109 Question Id : 716447259 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The term *bounded rationality” appears in the work of:

tForl BOTrdEY e9d Do D IS’ EDWod:
Options:
David Easton

1 x D& &pd



Y Diror

2.5 &0

A Etzioni

3 % =) 01

Herbert Simon

4 o TR DD

Question Number : 110 Question Id : 716447260 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The function of ‘Interest Articulation” is performed by:
Q060 LPENTHN A3 DO DO DOLETOLIICIBO00:

Options:
family

1. = “enoeso

educational institutions

2. “ g}ﬁ“_& rﬂOE}jw

pressure and interest groups

e DTN SBOID 503 (QoBY) HTEeD

3. v

mass media

4 z 27D coir

Question Number : 111 Question Id : 716447261 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



The book “Nerves of Government: Model of Communication and Control’ was written by:

DBy D (DG D0eS: DIES D SBTFISHO ol E085eT EHVEo TrRDA:

Options:
Almond and Powell

1 = €50, 0& aBOI e

David Easton

9« GDE &ipd

Karl Deutsch

3 v 5°§ m5t5

James C Charlesworth

4 % E0y 2 200

Question Number : 112 Question Id : 716447262 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The term “Elite and Masses’ was first used by:

DTE B0 DTFRD BIN DT DG G&DOITNoWDRTCD:

Options:
Vilfredo Pareto

DTN Hoes”
1. v uﬁ
G Mosca

7 % E?JEIJ"‘%‘%



Robert Michel

3 % UDE.}Q Ied

Karl Mannheim

4 x 56 53.]“55%3“5}3

Question Number : 113 Question Id : 716447263 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
The model of democratic process called “Polvarchy” was developed by:

D08, D e PaPIEN; REOH 030E), DT DG BRDDL:

Options:
AF Bentley

1. % ) B_:rog;

Raymond Aron

7 % Oavof es0D

Giovanni Sartori

3 « 2030 D00

Robert Dahl

4 v UDE.}Q =5

Question Number : 114 Question Id : 716447264 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Notion of ‘Democratic Centralism’ is related to:

‘TAEDS 2080020’ 099 EPHD DBS DoeododHE:
Options:



Dahl

Lenin

? O

Plamenatz

3. » B0

Maguire

4' ® ?mri::éﬁ

Question Number : 115 Question Id : 716447265 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Policies concerned with the general welfare and development of the society is called:

07220 CIVE); FTFOL WoZa00 00D BDHYRS VOEIOBODR DEFFTFON QYU” LI0ETM:

Options:
Substantive

1 v ‘é)&jﬂgﬁ)gi} (a:ucsng@m]
Regulatory

7« Em?gejm (gmmésma}

Distributive

&;@m&éﬁ:{a (Deras)



Capitalisation

. % B0OTERS (DrocdSon)

Question Number : 116 Question Id : 716447266 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who among the following has NOT adopted the decision-making approach?

3000706 JHWM Do BRVDHD D) (EHND DBoh D) BB0STE?

Options:
Herbert Simon

1 » THEDDD

G. March

7 % 2. E}J‘“ﬁ&

Richard Snyder

3 = es) :‘l:’;),ﬂﬁ

Raymond Aron

4. v Baook esBD

Question Number : 117 Question Id : 716447267 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Marbury vs Madison ( 1803) case led the origin of:

SrGN0 H0YD 2D (1803) Bz 6 dwrerd3 T BR00:

Options:
delegated legislation

FAD (EDHBE) 750 Joe) 80



judicial review

3 o ey PDoE

judicial accountability

3 « iferd 23 e D050

representative judiclary

. TG (BDB0SOD) THoOFOR

Question Number : 118 Question Id : 716447268 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Arrange the following committees on Panchayati Raj in chronological order.

a. Balwant Rai Mehta Committee
b. Ashok Mehta Committee
c. LM Singhvi Committee

d. GVK Rao Committee

DTS T8 D 308 SO Sogs” T Baded.

a. exod ook T E263
b. e95°8 DusrEr ED06)
C. 50 f\:aoﬁS E06d

d. 2.9.8 o7y 506

Options:

a,b,c,d

1. = a, b,cd



b.c.a. d

? % b, c, a,d

3 « abdc

c,d,a, b

4. = c,d, a b

Question Number : 119 Question Id : 716447269 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

How many subjects were transferred to Panchayats by the 73 Constitutional Amendment in the Eleventh Schedule?

DOF o hdﬁéeﬁeﬁ'ﬁb 73 o Toarfolf D0 TPT° D) 0TV DoTroaes edd Avdh?

Options:
21
1. = 21
32
? % 32
29
3.v 29
23
4 = 25

Question Number : 120 Question Id : 716447270 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Under which of the following ministries does the Department of Official Language (Raj Bhasha Vibhag) come?

300 S D o] TW S0cs BTOE ek Derto (T°E wrak Derh) HRod?



Options:
Ministry of Culture

1 = ﬂmh@@-é S00GBB] T

Ministry of Human Resource Development

7 % AT SdHhe) e::if);j&ga mo@@5 )

Ministry of Home Affairs

3 Fo ODfTTO oSS T

Ministry of Information and Broadcasting

4 % ROPEC OBOID DIFC OBB] T

Question Number : 121 Question 1d : 716447271 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The members of UPSC can be removed from their office during their tenure by the:

mﬁ:ﬁf@b DO T°0 DOOse0eT 70 sorjooo ol Feofods (OHH:

Options:
President on the report of the Supreme Court of India

PGS 2008 DDOED TS

1. v
President
Oraladed

? % 8
Parliament

3 % ﬁ"gmoeﬁ



President on the report of the Parliament

FPOR00E) DDA TN

4, =

Question Number : 122 Question Id : 716447272 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Collegial Executive is prevalent in:

%"@&,aﬁb@ DDEFED DOVOTT &) DFo:

Options:
USA

1. &= cindHd

France

2. x T

Switzerland

3 o h&%}gﬁoé

India

A » 2P0Od0

Question Number : 123 Question 1d : 716447273 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who among the following has the right to address the Parliament?

B0HTHS” TG0V EGTod) AFEPE LY, JDBS e0d?

Options:
Attorney General of India

1 v @wéﬁl 29065 e PoliodiT



Chief Election Commissioner of India

% u PGS DAY ;JE):LSG Saarod

Chief Justice of India

3 % 2P0 DR au5mmg

National Security Adviser

A % FS0D BET DODTO

Question Number : 124 Question Id : 716447274 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Money from the Contingency Fund of India can be withdrawn only after the:

DPOODD 5L DO A0 GeVNRD JND BT(D DO, @m%ﬁamaoej:

Options:
appropriation Act has been passed by the Parliament

1 eoFREDND SHPD) JPGRV0EL IDTO0DD BTG
.
approval of the President
Trajared esmrcio e80T ed
? x =
prior approval of Comptroller and Auditor General

Sogfed DuBOTD e3EE 20 CIE) AVOGR 9T

approval of Cabinet

4w DI esDrcodd

Question Number : 125 Question Id : 716447275 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



National Development Council was set up in:

230D DG DD ITeyE DD VoSS Go:

Options:
1950

1. = 1950

1951

7 % 1951

3.« 1952

Question Number : 126 Question Id : 716447276 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Who was the philosopher who proposed the ‘positive method’ in the field of social science in 18487

1848 &° Jro28 F°Q Gorioe” ‘Jrdnere HYS (728D TOE) D HAJB0LD SSDG IDW?

Options:
Auguste Comte

1. v P_ﬂrﬁg 5&:133

Karl Marx

7 570 mﬁbh

Theodorson

3 % E)CGJ“G“CSJ.%



Robert K Burms

4 x UDE.}Q g mﬁ&h

Question Number : 127 Question Id : 716447277 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

According to Horton and Hunt, which of the following are the correct steps in scientific research?
G S0BOTD 1303 DS°Co, S8 306 TeS” THAD NOT NS DD GFeL DD?

Options:

1. %

Plan of research design, review of literature, define the problem. collection of data. formulate the hypothesis

DOFHD APDEND DEPDS, Frardd DAL, VWD DOD0E0, (EP0T DEGL, DBSVYIR GrTodoc3Eo

2.

Define the problem, review of literature, formulate the hypothesis, research design, collection of data

0GR DOLD030C0, FPaTe] DAL, DOLNIN XTododoco, DOFED GFHEVND, GIFos VLG

3. %

Collection of data, define the problem, formulate the hypothesis, review of literature, research design

GEFP0F DEGER, DAV ORIOEICE0, DB APLTOROSE0, FaPS] DME, DBF G PNV

4. =

Research design, define the problem. collection of data, formulate the hypothesis, review of literature

DOFHD AFDEVNR, DAV DOLoL3o, BTF0F VEGE, DOENDD AFToBoSC0, FaTe] VDIVE,

Question Number : 128 Question 1d : 716447278 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is INCORRECT about exploratory research?

I S DOF D (.Déf’ﬁg 5630 6:}5&) (B0 S0d ardES” DA DTN S ?

Options:



Useful in the area in which information or literature information is available

1 v DaTrTEdo S 3@@@5 DATIECG0 90c0eTeeS ey Gorioes” ENMIHDCEISAI00

Also known as formulative research

DPGEGE DBFOH (._—;'nmégejesb 6206 ) 93 7T e908rd

The researcher has little knowledge about the problem

3 « DT HHAS VR OO DG LITTEPR T

It is useful in less explored area

A5 D DOFT OO Corree d SHOTrOnESa0H

Question Number : 129 Question Id : 716447279 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
The research conducted to measure the effectiveness of an action program is called:

SO0 SPO(Gano (0irg 0) G3g) Derardy Foos GCaTP00R DOTE Qe I0LTD:
5 (Sa0 ( S Poro) 8, O N & D3 DO DOF D

Options:
Applied Research

& 606y

Experimental Research

I« DOTTrEL 8 DOFTED

Evaluation Research

3 SOTE[0ERD 3O €3S



Longitudinal Research

4 = Baros (eroftaryedes) DOF S

Question Number : 130 Question Id : 716447280 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The variable selected for analysis is called:

D0 Edo oI DBoDEVS (300°F) D QeF e0eT:

Options:
exiransous

€[OI {;hgaxz%aﬁ}

control

2. W gﬂgﬁg

independent

3. % @ot0oCotd

explanatory

DTS STOAE (Y, He0d)

4. v q

Question Number : 131 Question Id : 716447281 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT a criterion of good hypothesis?

208 05" DO DBZOND (G DD ) CB0E), PDFER0 ST

Options:
It should be empirically testable

1 = 26 RBIIPOEOTT DO ocercd



It should be precise and specific

7 % 90 Do&0TT &BOIL Do oD

Statement in the hypothesis should be contradictory

3 o DOLNDS” HEOD DAGOTT €z0td

It should specify variables between which relationship is to be established

4 x &) SoTrHRe) S0¢i] VoL gn‘?ooa“eﬁ“ Dot DT D

Question Number : 132 Question Id : 716447282 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who defined theory as ‘a coherent set of internal propositions explaining apparent relationship of certain observed
phenomenon’?

hgﬂo@v:}i FD) (:20D00d Aot 0308), DYHEOD D020ty DDHDBT 0BGS DATGHO DDOY DIV D)
e hdszf}oa“d;}?

Options:
Zikmund

1. & E‘.?JS)&O&

Blalock

2%5‘?‘“@5

Sutherland

3 x ‘&)ﬂﬁg‘*ﬂé

Theodorson

A % E)CGJ“G“CS;}.\EJ
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Null hypothesis is:

B DOEND (D85 TPETRID) eodre:
Options:
statement based on/derived from sufficient theoretical and empirical data

1 = BND0S PEFodE DB BRVTPDE ST0F0 ST / TFobd HELD

preliminary assumption about research

7 % BTG DD FOENE e

hypothesis of no relationship. used to test research hypothesis

3 v 20830630 T DBEOND, DBFTH DOSLYIA DOLOIEIS &EDATAID

research proposition about some social factors without reference

A GHore By Jrarad seosee (Hdod) DOT 0N Daara
4 = Al
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Goode and Hatt point three main difficulties in formulating hypothesis. Which of the following is NOT among them?

DOLONIRD (FPTHRD) EreToboSE0eS” (PR S80I TH5 DUIPED VEPD Q0L LPPIRTT) M. S0t &Y

TS, DO Teees” eFen?
Options:
Inability to phrase hypothesis properly

DBEND DO Do BaLTET Do

Absence of clear theoretical framework

2« DD DEFOAE Do GO0



Lack of ability to utilise the theoretical framework logically
DEFoDE P B8) S0 EDOIHOEDD Erwmgéo e oo
Non-identification of variables

A o DOTRRD DB o
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Inductive reasoning/argument refers:

208 ) o (@ocdd B20h) / TGS HAD AFIYH:

Options:
From specific facts to general principles

1 » g oo A0E PLrEOE DTS HULD

From general facts to universal facts

7 % FTE0E TRT Dot FOBE TYTV HOD

From general principles to particular instances

PP APITe) Aol DS DoGTPNe S0
3 = = 9% £)

From common principles to general principles

4 % FO0PR) Ao AD0C FTEGER AIEEO H6DH
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Norman Blaikie pointed out four strategies for conducting research which were called:

»OF v DOEFoSCTIS TFCLD 838 mrenD QPO DPD0ErMm. ©9D:

Options:



1.«

Inductive, Deductive, Retroductive. Abductive

e8I D3 (Rocda), Driawd DG (Gego), DBEONITTEDD D (E:-@"agé}, DBIETCDOR D (wggéj

2. %

Deductive, Inductive, Futuristic, Retroductive

DD DG (CEgD), el Sinlt) (oc3o), DL, T8 DG (mﬁaaﬁgé}, DBSONIT VD DHD (a;e&ﬁagé}

3. %

Deductive, Inductive, Futuristic, Abductive

D0 D (Cegd), estiand DA (ocdo), BDLY T 8 DED {mﬁaﬁa?gé}, DBEETAIDOD DG {wggé}

4. %

Deductive, Inductive, Elaborative., Futuristic

JfaaT t’.)ga (GegD), esrand K)Eg@ (@0ed), DI S ag@ (Deretdo), B, TS :;:.Qa (‘f..}j“étﬁﬁ%})ﬁ]
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Which of the following is NOT a characteristic of quantitative research?

S0d T35 DA DBDTETS) S DB OB0E), VL0 TED?

Options:
Problem is specific and precise

1 s PR05 DRI 200 DS

Hypothesis are formulated before the study

9 DGODD0 D00 HOSVYD DrAEBoIIC0E

Sampling is planned before data collection

P03 E05) ADO0CL D00 DEFPE Doleciodd



Mostly nominal scales are used

DEN DT TFPOITGY) DPDS O (TP D),85) ED0IAIRm

4. v
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Sampling method which ideally suits for an ethnically divided population is called sampling.
EPSD00TT DBODBRICD BTERE) SO0 0T DO A DAIOTD ‘&JQ@KJ 22630000 908D,
Options:

probability

1 x RoTDES (e ded)

simple random

ﬁvmaﬁé AIFEDNE (0SS Bocan)

stratified random

3 208 AT S (FODE Tocco)
. n

convenience

4 = 3“@&60 (53)52)&5353)
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Sampling method in which the researcher gets acquainted to other respondents by the respondent itself is called
sampling.

DOFHEED QBC DATEVLD DATO L0 0000 e903)) BSBI0T fa%}@c‘b 20e3TI0IIAI0 eI0LIPCD.

Options:
volunteer

1. &= oreothd



snowball

2 & ﬁﬁn‘]HEJ”E‘E

quota

3 x Hep

convenience

4 % 5‘03560 (53}53@53)
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Which of the following is NOT a characteristic of participant observation?

300 TOS° DO GHDoeS BTN (EFIES DOFVD) CIVE), VL0 T ?

Options:
Studying evervyday life events

1 = Dexzarr 206 Donntdersdd eC3{00R0 SDadcio

Communicating with participants through interaction and perceived reality

I« DONG 30 S0BOID Faroddd TRDES Tr(T° FSD 70 80§ D3eS Botcto

Event to be studied in natural environment

7 « DT PTG e9¢3{CI0R0 c‘;’:odj“@;)é PR IO B AT

Control over the participant behaviour

4 v "8 (r8R085) OGP Dasodes
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Burns states six types of case studies. They are:

30 G5°e) 80 Q&Lﬁ)&h E.JS;Q DT €. 9D

Options:

1. %

historical, observational, oral history, situational, heuristic and crucial
B, bﬁ%mm@&é, DFDE 506 (£.06 2370), "n}ocjf)égrf}@ (Pe0D0de). P8RS (Rvauorrira)S) 0bosw
SEDDAD

2. %

idiographic. heuristic, crucial, oral history, observational and multi

QECIFTPDS, BRS (R0NoTrrrd)8), S05RD, TDE 38 (L:66 b, m@%‘um@és S0BOED LIETFOTRVDD

3. v

historical, observational, oral history, situational, clinical and multi

O, bﬁ%’a@@&é, ST DE SO (6,685 708). PoaBHNS (EFDNHS), 3DEES 0BT LETVVRLHD

4, =

crucial, heuristic, configurative, oral history, situational and clinical

L0, PEOR5 (9R0D0TPRrE)S), SINIBAD, SFDE SBg (L0665 >6), ;}ocﬁﬂae:& (Pe0gd0R0e) SBatn
25
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The content analysis in which researcher not only in the types of words used but also in scaling their intensity weights is

called analysis.

DOF B EDTITNEDD e 056D Tt T HHS ML oo Sree andrhod Sofots HFED
DBNER L90E .

Options:
evaluative assertion

1' " MEF“?SDQF\‘) FeilnT)



contextual

‘@oﬁnﬁgﬁéé

semantic

€96 P00 (Paroths)

conceptual

4 % m@&g

Question Number : 143 Question 1d : 716447293 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Arithmetic average of a set of measures is called:

Seehe) aded c:t"‘msb e9083696d DI QeTe esobIPd:

Options:
mean

1. v 200 (Rriewn)

median

I % DT (20cg0e0)

nominal scale

0 BN (0] i}a}eﬁ

mode

A x & (erarovso)
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Guttman Scales are:

ﬁJEJ“l}E‘E} ﬁhbt%:
Options:
multi-dimensional and cumulative

ATSLBLE] E@Jééﬁ «0B030 Doc)éto
1 b ot

uni-dimensional and non-cumulative

9 & aiPD-ER0HRES s0datn Doddo 5°IG

uni-dimensional and cumulative

3 v CieD-Ea0HAES S0BC3 WoLkdo

multi-dimensional and non-cumulative

4. = BIEPOF C0RS S0B0ID R0 520
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Symbolic interactionism, ethnomethodology and phenomenology contribute to the development of paradigm.
P0erdE otTPED20, JB) WETTLR SBOIN DIFITOE AFod wD0S Sirco STrow.
Options:

critical

1« R00g (3056)

interpretive

DITTFS) & (r2080 D)



positivist

3 % Lo

elaborative

4w D3RS
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A variable that is manipulated is known as variable.
AT OEIGSD Dbobewes (HoTed ) £IOTD €908,
Options:
cofounding
1 = Erocof
control

2 ® :}DZiJDQEB

dependent

3' w  eserhed

independent

4' ﬁ? @5@0@
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An organisation wants to introduce a new policy and wants to evaluate its effect. The best method for this purpose

would be:
28 00 Fg DTETE) D0I0ErO0) FHsH0t00d dAIL T DEPOPD) 0TI DOIFO0L0H. S HOTTR0
E0 &gan DYS:

Options:



before and after research

1. v DDOGRD BOIL BEDD DOTFEH

after research only

7 % BEODB DBFTER argd

complete randomised design

3 x TR TOEE EBD

factorial design

4 x SOSRD (EB00eS5) &S
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Quota sampling is an example of sampling.
Fer OO0 RASONTDS 2,8 GTEIROn.
Options:

probability

1 " Fboe,mjzgéj

non-probability

9 o ?‘C)oEJ‘JJ% CaTeeh

random

od° tﬁa,tc:)lbs



sUrvey

4' ® T.-:]ﬁns
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Which of the following is NOT a technique of primary data collection?

SobHarde)” OIS GIPod DECE OIVE), FPoEAES 52D IO?

Options:
Questionnaire
1 T D9
%

Interview schedule

faomﬁJ“Sé hdﬁéeﬁ

Participant observation

7 i FEIT0 (Bot) HOIVN

Book review

4 o 08 20g (208 Byry)
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The middle value in a series of values that divides distribution into two equal parts is called:

D20 BOCD PEIP eRTPeTT D250 Hensde) 3ees’D 065 DLV I0EFP:

Options:
mean

1. & Zod



median

mfﬁéﬁﬁﬂ

mode

eI S0

average
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